(2)-2 FEETHHASNDRHITLRD B S A EE R O i A EH BEHER RS R
#2-2-0 FpETHHSNDEHITRD B - 6 SA =W E I O Pk H BHERHRE R (20224F 1 ; 22 [F)

SR EPEH & (kg/4F)
B xIg b E 4 BeobAl | REAl B EREH BREAl | EEA] | SR | A
BT VX NA_ B RN N VDY (T IV
30| LD IR FBHDNT10NSH14FETOLD K RFED 1,881 1,881
BEMIZIRD, )
53| =F P 13,923 13,923
64| TR 7 =TTy A 43 43
70 T AVF U Blal BEMRIE K M=~ A7F > Blb L9 L9
BEERBEDOIRE ) )
80/F L 17,295 17,295
95| 7 VT V) A 10,833 10,833
96|27 x /Ja) > —)L 3.3 3.3
108 a7y
113>~ 467 467
118 7a7x= 1 9.4 38 48
140| 7 =7 a K 35 59 94
169/ 205 205
170/ 7 ooty —v 57 57
195| 7 aF F R A 1,054 1,054
202| 7E7=—Fh 47,880 72 47,952
229|F A7 7 F—FAF L 10 10
%17 ==raF 4> 41,856 65 41,921
260|7noXo=,1 27,386 16 27,402
286/ R 7oL 14,521 14,521
350]~ L AR 562 35 597
357| 7 T mr 3,248 3,248
364| 7 = B r¥% T A—h 734 734
R (FFoFLo) =T X)Lz —T )L (T I)LF%
407 | WWIEDRFBEN 23515 F TOHED K OZFDIR 28 63,656 47,186 110,870
HEWNCIEA, )
408|RY) (AFLTFLU) =4V F )T z=)L=—F)L 20,887 20,887
R (FFxFL ) =F7T T —7 Ui A
409/ F e 455,985 50,003 505,988
410|[R) (IFLoF L) =)= Tz=)L=—F )L 272 9.3 34,496 34,777
& &t 128,537] 38,558 301 534,842] 152,572 854,811
F2-2-1 FE TSI EIRITRD HE - Xt 8 = B R O E H EHEG RS 5 (20224 JbifiE)
e el EMPEH & (kg/4F)
BHE S W'E 4 A bAl | BRIl | B AREA| BREAl | EAEAl | SRSl | 83
HEET VXN P 2R R R D (7L
30|V EEDRFBEN 10 H14FETOLD K ONED 140 140
BEWZIRD, )
53| =F P 1,169 1,169
64| T =T ay I A 0.7 0.7
70 T AT Blal BERIE K M=~ A7F > Blb 0.0 0.0
ZEEMBEDOIRES ' '
80/F L 1,429 1,429
95| 7 VT ) I 6,364 6,364
96| 7= /a) —)L 0.0 0.0
108 A7y
113>~ 9.0 9.0
1183 7a7 %=L 0.1 0.2 0.3
140| 7 =7 K 0.2 0.3 0.5
169/ vy
170/ 7 h7a)y —)u 5.8 5.8
195| 7 aF F R A 414 414
202|7E7 = —k 992 0.7 993
229|F A7 7 X —bEAT L 0.2 0.2
251 |7 ==haF A 3,120 0.7 3,121
260|7 X o=, 395 395
286/~ 7ot L 41 41
350[~ L AR 5.9 0.2 6.1
357|7 a7y
364| 7 =B mF T A—h 17 17
Ry (FFoFLy) =T/ L—T7 /L (T )%
407 | VEEDRFBEN123515FTDOHD K NZF DR 1.9 2,056 2,973 5,031
EMZIRES, )
408\ R (AFTv =T L) =F I/ F N T =)L =—F )L 1,316 1,316
AR (AFF L) =T VLo —T /Ui A
409 SR 11,868 3,150 15,018
410K (X 2T L) ==V T =)L T—T )L 11 0.2 2,173 2,185
o i 7,290 6,776 2.3 13,974 9,612 37,655

(2)-97




#%2-2-2 FpECHHSD B RICER D A - S AW E R O P sl SRR (20224 ; T AR L)

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 15 15
BEWIZIED, )
53| = F LB 126 126
64| TR T =T A 0.3 0.3
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 154 154
95| 7T VF A 6.7 6.7
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L 0.0 0.0 0.0
140| 7 =7 /XK 0.0 0.0 0.0
169y
170/ 7 h7a) > —u
195| 7 aF AR A 37 37
212|777 =—Fk 756 0.2 756
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 343 0.2 344
260|7naXn=)r 426 426
286N 7oL 43 43
350]~L AR 0.2 0.2
357| 7 a7 0.9 0.9
364| 7 =L B EF T A—] 0.2 0.2
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 0.4 296 712 1,008
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 315 315
AR (AF T L) =RT L —T /URiER T A
409 SR 3,991 755 4,745
410 R (AxXv =T L) = /=T —T )b 2.2 521 523
& 2t 1,434 435 0.4 4,330 2,303 8,502

#2-2-3 FpETHHSNDZHITHRD IR - e SAL =W E I O P EHE R R (20224F 5 /5 F IR

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 12 12
BEWMZIRD, )
53| = F P 98 98
64| N7 =T a7 A 1.3 1.3
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 119 119
95| 7 VT V) A 7.9 7.9
96| 7 = /) —) 0.0 0.0
108 A7y
113>~
118|3/ur7 2=,
140| 7 = 7 u R )
169/ v
170/ 7 ootV —v
195| 7 aF F R A 10 10
212|777 —h 324 324
229|F A7 7 X — AT L
%517 ==raF 4> 267 267
2607 a=)r 375 375
286/ FJ7uk’)L
350]~ L AR 1.2 1.2
RV A=
364| 7 = Em¥% T A—h
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 1.9 753 222 977
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 98 98
ARV (AF T L) =RT VLT —T /LR T A
409 SR 7,485 235 7,720
40|R) (X 2FL) =)=V Txz=)L=—T )L 2.4 162 164
B s 834 386 0.0 8,238 717 10,175

(2)-98




#%2-2-4 FRECTHHSNDERICERD A - S E P E R O P B SRR (20224 B ;B 3k )

S E s/ EPEH & (kg/4F)
B YWE 4 Al | RREA | B R EA BREA | EAEA] | Sk | AE
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 25 25
BEWIZIED, )
53| = F LB 207 207
64| TR 7 =TT A 0.5 0.5
70 T A F U Blal BEMBE N V=~ A7FBlb 0. 0.9
ZEEMRBEDOIREY ) '
80|F L 253 253
95| 7T VF A 65 65
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L 0.0 0.0
140| 7 =7 /XK 0.0 0.0 0.0
169y
170/ 7 h7a) > —u 2.7 2.7
195| 7 aF AR A 7.4 7.4
212|777 =—Fk 660 660
229|F A7 7 F—FEAF L 0.0 0.0
251| 7 ==baF+4> 573 573
260|7nuXa—/L 623 623
286N 7oL 295 295
350]~L AR 0.8 0.0 0.8
357| 7 a7 13 13
364| 7 = B mF% L A—h 5.7 5.7
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 5.0 3,361 941 4,307
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 417 417
AR (AF T L) =RT L —T /URiER T A
409 SR 16,489 997 17,486
410 R (AxXv =T L) = /=T —T )b 7.1 688 695
& 2t 1,752 697 0.3 20,145 3,043 25,638

#2-2-5 FpETHHSNDZHITHRD IR - et ALY B 0 Pl EHE SRR (202248 B2 ; Bk TR

E S /k

R DEH & (kg/4F)

B

WE 4

R | R

BB

Al

B AR Al

Br LAl

JRAEF

JEIBEF]

Bl

30

ELEHT VR P LR R N O DY (T
XNV IEDRBENL1003H14FTOHD K OFD
BEWZIRD, )

4.4

4.4

53

TP

45

45

64

IRT Ty A

70

T AT BlaZd BEFRE N Nt~ A7F 2 Blb
ZRERBEDOIRE

80

¥y

53

53

95

TINT T A

96

T )a )l —)b

108

Aa7 vy

113

A IS

118

a7 B=)v

140

A= VaNN| NS

169

DAY=

170

Th7a)—u

195

TaF A IRA

3.1

3.1

212

TtET7—h

49

49

229

FA 77X —R ATV

251

TJrx=faFF

103

103

260

ZAniuy gu by M

238

238

286

N Za=iawi%

39

39

350

AL AR

357

Tra 7y

364

T Ead s A—h

0.8

0.8

407

R (FFF o) =T LFLT—T /L (T )%
IVIEDRBED120:H15FTOHD K NF DR
EWNZIED, )

2.5

820

312

1,134

408

R (AFLTFL) =FAIF N Tz=)L=—T )L

138

138

409

R (FFLTFLL) =R F LT —T LT A
TIVF I L

5,748

331

6,079

410

228

230

R (XL TFLL)= )= )L Tz=)LT—F)L
o it

261

6,607

1,009

8,117
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#%2-2-6 FpECHHSIDERICER D @A - S P E R O P B SRR (20224 ; [T IR)

S E s/ EPEH & (kg/4F)
B YWE 4 BebAl | BEAl BRI PREA | REAEA] | SobERl | BE
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 10 10
BEWIZIED, )
53| = F LB 76 76
64| TR 7 =TT A 0.0 0.0
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 95 95
95| 7T VF A 0.8 0.8
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113>~ 4.1 4.1
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u
195| 7 aF AR A 1.0 1.0
212|777 =—Fk 253 253
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 232 232
260|7naXn=)r 395 395
286N 7oL 342 342
350]~L AR
357| 7 a7 0.4 0.4
364| 7 =L B EF T A—] 1.1 1.1
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 0.4 573 313 886
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 139 139
AR (AF T L) =RT L —T /URiER T A
409 SR 5,384 332 5,715
410 R (AF v =F L) = /=) Tz )L—TFT )L 1.7 0.1 229 231
& 2t 669 398 0.0 6,303 1,012 8,382

#2-2-7 FpETHHSNDZHITHRD IR - et A=W E I O P EHE R R (20224 B2 ; 17 55 )

xS Y A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 15 15
BEMIZIRD, )
53| =F LR P 114 114
64| =h 7T a I 0.1 0.1
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 142 142
95| 7 VT V) A 2.7 2.7
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 8.4 8.4
118377 X =)L 0.2 0.2
140| 7 = 7 u R ) 0.8 0.8
169/ v
170/ 7 h7aFY —)L 1.5 1.5
195| 7 aF F R A 3.3 3.3
212|777 —h 527 527
229|F A7 7 X — AT L
%517 ==raF 4> 345 345
2607 a=)r 915 915
286/ R 7oL 321 321
350]~ L AR 0.6 0.6
357| 7 Fmr 11 11
364| 7 = Em¥% T A—h 3.6 3.6
R (FFoFL o) =T LF)Lo—T )L (T L%
407 | WVIEDRFBELNL 23515 F TOHD K OZFEDIR 0.6 912 958 1,870
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 424 424
ARV (AF T L) =RT VLT —T /LR T A
409 SR 8,256 1,015 9,271
40|R) (X 2FL) =)=V Txz=)L=—T )L 6.9 0.2 700 707
B s 1,163 926 1.0 9,498 3,098 14,686

(2)-100




S E s/ EPEH & (kg/4F)
B YWE 4 BebAl | BEAl BRI PREA | REAEA] | SobERl | BE
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 52 52
BEWIZIED, )
53| = F LB 381 381
64| TR 7 =TT A 0.3 0.3
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 474 474
95| 7T VF A 94 94
96| 7 = /Ja)}—) 0.1 0.1
108 A7 my
113>~ 61 61
118377 %=L 0.7 1.1 1.7
140| 7 =7 /XK 2.1 1.5 3.6
169y 8.5 8.5
170/ 7 h7a) > —u 1.2 1.2
195| 7 aF AR A 28 28
212|777 =—Fk 1,116 5.8 1,122
229|F A7 7 F—FEAF L 0.1 0.1
251| 7 ==baF A 1,151 5.2 1,156
260|7naXn=)r 855 855
286N 7oL 842 842
350]~L AR 86 1.0 87
357| 7 a7 25 25
364| 7 =L B EF T A—] 9.4 9.4
R (FFoFL ) =T /LF)Lo—T)L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 0.5 3,767 1,185 4,952
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 524 524
AR (AF T L) =RT L —T /URiER T A
409 SR 26,606 1,256 27,862
410 R (AxXv =T L) = /=T —T )b 5.1 1.2 866 873
& 2t 3,325 956 15/ 31,286 3,831 39,413

#2-2-9 FpETHHSNDZHITHRD IR - et ALY B 0 Pl EHE R R (20224 B2 il AR )

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 35 35
BEMIZIRD, )
53| =F P 271 271
64| =h 7T a I 5.4 5.4
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 335 335
95| 7 VT V) A 104 104
96| 7 = /) —) 0.3 0.3
108 A7y
113>~ 35 35
118377 %=L 0.4 2.0 2.4
140| 7 = 7 u R ) 0.9 0.9 1.8
1697 5.6 5.6
170/ 7 h7aFY —)L 2.2 2.2
195| 7 aF F R A 37 37
212|777 —h 1,015 2.8 1,018
229| T H 77 Rx—hMAF L 0.2 0.2
%517 ==raF 4> 785 2.5 788
2607 u= 1 451 0.6 451
286/ R 7oL 676 676
350]~ L AR 21 2.4 23
357| 7 Fmr 23 23
364| 7 = Em¥% T A—h 14 14
R (FFoFL o) =T LF)Lo—T )L (T L%
407 | WVIEDRFBELNL 23515 F TOHD K OZFEDIR 1.4 2,812 784 3,598
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 347 347
ARV (AF T L) =RT VLT —T /LR T A
409 SR 22,700 831 23,531
40|R) (X 2FL) =)=V Txz=)L=—T )L 7.5 0.7 573 582
B s 2,544 565 121 26,229 2,536 31,885

(2)-101




32-2-10 FhETHEHSLD B3R D & - I S R O HE HH EHERHRE R (2022452 ; G IR

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 209 209
BEWIZIED, )
53| = F LB 1,502 1,502
64| TR T =T A 0.5 0.5
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 1,874 1,874
95| 7 )LT V) 101 101
96| 7 = /Ja)}—) 0.0 0.0
108 A7 my
113>~ 26 26
118377 %=L 0.3 0.9 1.1
1407 =2 7 a XK 1.4 0.8 2.2
169y 39 39
170/ 7 h7a) > —u 1.3 1.3
195| 7 aF AR A 5.8 5.8
212|777 =—Fk 2,095 3.2 2,098
229|F A7 7 F—FEAF L 0.2 0.2
251| 7 ==baF A 4,653 2.8 4,656
260|7naXn=)r 817 4.5 821
286N 7oL 841 841
350]~L AR 15 1.0 16
357| 7 a7 10 10
364| 7 =L B EF T A—] 7.2 7.2
R (FFoFL ) =T /LF)Lo—T)L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 2.4 3,751 5,472 9,225
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 2,422 2,422
AR (AF T L) =RT L —T /URiER T A
409 SR 30,627 5,798 36,425
410 R (AF v =F L) = /=) Tz )L—TFT )L 3.7 0.5 4,000 4,004
& 2t 10,375 923 13] 35,284 17,692 64,288

#2-2-11 FpEETHIHSNDEHITMRD kD

| R GAL Y E R DO PE H BAHERTHRE A (202247 B8 55 T 1)

xS Y A PEH & (kg/5F)
B WE 4 B Al | REEAl BRI PREA | EAEA] | SRl | AE
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 169 169
BEMIZIRD, )
53| =F P 1,216 1,216
64| =h 7T a I 3.0 3.0
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.9 0.2
REERBEDOIRE ) )
80/F L 1,516 1,516
95| 7 VT V) A 135 135
96| 7 = /) —) 0.2 0.2
108 A7y
113>~ 24 24
118 7a7X=)1 0.7 5.7 6.4
140| 7 = 7 u R ) 1.9 7.1 9.1
169w 31 31
170/ 7 h7aFY —)L 4.3 4.3
195| 7 aF F R A 8.9 8.9
212|777 —h 3,853 5.3 3,858
229|F A7 7 X — AT L
%517 ==raF 4> 3,752 4.8 3,756
2607 o=,u 1,745 2.2 1,747
286/ R 7oL 409 409
350]~ L AR 51 5.9 57
357| 7 Fmr 65 65
364| 7 = Em¥% T A—h 21 21
R (FFoFL o) =T LF)Lo—T )L (T L%
407 | WVIEDRFBELNL 23515 F TOHD K OZFEDIR 2.9 1,767 2,449 4,218
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 1,084 1,084
ARV (AF T L) =RT VLT —T /LR T A
409 SR 21,368 2,595 23,963
40|R) (X 2FL) =)=V Txz=)L=—T )L 96 0.5 1,790 1,886
B s 10,659 1,980 311 23,599 7,918 44,187

(2)-102




F2-2-12 FpETHEHIND IR D H @A - Xt S = E B OHEH S HEEHAG 3 (20224 ; THER)
S E s/ ER PR & (kg/5F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 88 88
BEWIZIED, )
53| = F LB 634 634
64| TR 7 =TT A 2.5 2.5
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 791 791
95| 7T VF A 538 538
96| 7 = /Ja)}—) 0.1 0.1
108 A7 my
113y~ 56 56
118377 %=L 0.7 4.3 4.9
1407 =27 /R 2.1 3.4 5.5
169/ 2.9 2.9
170/ 7 h7a) > —u 2.5 2.5
195| 7 aF F AR A 19 19
212|777 =—Fk 2,000 6.0 2,006
229|F A7 7 F—FEAF L 0.6 0.6
251| 7 ==baF A 1,958 5.4 1,963
260| 7ok o=/)L 1,147 1.2 1,148
286N 7oL 1,469 1,469
350[~2 L AR 32 4.7 37
357| 7 a7 50 50
364| 7 =L B EF T A—] 13 13
R (FFoFL ) =T /LF)Lo—T)L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 1,963 2,233 4,196
HEWNCIRS, )
408/ R (AFv 2 TF L) =A4IF /N T =)L =—TF)L 989 989
AR (AF T L) =RT L —T /URiER T A
409 TR 19,442 2,366 21,808
410 R (AxXv =T L) = /=T —T )b 20 1.1 1,633 1,654
& 2t 5,590 1,708 26] 22,934 7,221 37,478

#2-2-13 FRETHIHSNDEHITRD k)

|« R GALZE Y E R DO HE H BAHER RS AR (20224F K 3 HUATHT)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 39 39
BEWMZIRD, )
53| = F P 279 279
64| =h 7T a I 0.0 0.0
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 349 349
95| 7 VT V) A
96| 7 = /) —) 0.1 0.1
108 A7y
113>~
118377 %=L 0.5 9.4 9.9
140| 7 = 7 u R ) 2.0 4.9 6.9
1697 8.0 8.0
170|777y —)u 0.1 0.1
195| 7 aF F R A
202\ 77 = —h 1,497 2.4 1,500
229| T H 77 Rx—hMAF L 7.3 7.3
51| 7 ==raFAo 873 2.1 875
2607 u= 1 173 1.1 174
286/ R 7oL 1,460 1,460
350]~ L AR 13 8.5 21
RV A=
364| 7 = Em¥% T A—h 4.7 4.7
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 187 2,421 2,608
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 1,072 1,072
ARV (AF T L) =RT VLT —T /LR T A
409 SR 869 2,565 3,435
40|R) (X 2FL) =)=V Txz=)L=—T )L 1,770 1,770
B s 3,058 173 36 2,524 7,828 13,619
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#2-2-14 FpETHEHSLL EIEITHRD SR - Xt S B R O HE HH SmHEFHRE B (202242 ; fh 43 1 IR)

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 49 49
BEWIZIED, )
53| = F LB 350 350
64| TR 7 =TT A 1.3 1.3
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 437 437
95| 7T VF A 127 127
96| 7 = /Ja)}—) 0.2 0.2
108 A7 my
113y~
118377 %=L 0.2 0.7 1.0
140| 7 =7 /XK 0.8 1.8 2.6
169y 46 46
170/ 7 h7a) > —u 0.0 0.0
195| 7" aF AR A
212|777 =—Fk 1,107 3.1 1,110
229|F A7 7 F—FEAF L 0.0 0.0
251 |7 x=haF 4 1,092 2.8 1,095
260| 7ok o=/)L 859 2.9 862
286N 7oL 170 170
350]~L AR 11 0.7 12
357| 7 a7 70 70
364| 7 =L B EF T A—] 16 16
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 241 1,296 1,537
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 574 574
AR (AF T L) =RT L —T /URiER T A
409 TR 2,106 1,373 3,479
410 R (AxXv =T L) = /=T —T )b 2.7 948 950
& 2t 3,134 989 12 2,563 4,191 10,889

#2-2-15 FpETHIHSNDEHITLRD k)

|« R GALZE Y E R DO PE H BAHERTHRE A (20224F K8 TR 1Y)

xS Y A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 6.5 6.5
BEMIZIRD, )
53| =F P 49 49
64| =h 7T a I 0.7 0.7
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 61 61
95| 7 VT V) A 85 85
96| 7 = /) —) 0.1 0.1
108 A7y
113>~ 8.9 8.9
118 7a7X=)1 0.2 0.4 0.6
140| 7 = 7 u R ) 0.4 0.6 1.0
1697 14 14
170/ 7 h7aFY —)L 0.0 0.0
195| 7 aF F R A 8.2 8.2
212|777 —h 809 0.5 809
229| T H 77 Rx—hMAF L 0.2 0.2
%517 ==raF 4> 143 0.5 144
2607 a=)r 332 332
286/ R 7oL 80 80
350]~ L AR 5.2 0.4 5.6
357| 7 Fmr 0.6 0.6
364| 7 = Em¥% T A—h 5.0 5.0
R (FFoFL o) =T LF)Lo—T )L (T L%
407 | WVIEDRFBELNL 23515 F TOHD K OZFEDIR 17,088 872 17,960
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 386 386
ARV (AF T L) =RT VLT —T /LR T A
409 SR 82,481 924 83,406
40|R) (X 2FL) =)=V Txz=)L=—T )L 2.9 0.2 638 641
B s 1,088 420 2.7 99,673 2,820 104,004

(2)-104




32-2-16 FRE TR HSLD B3R D & - I S R O HE HH EHERH RS R (202242 ; & 1L IR)

/|

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 22 22
BEWIZIED, )
53| = F LB 159 159
64| TR T =T A 0.5 0.5
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 199 199
95| 7T VF A 58 58
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L 1.1 1.2 2.3
1407 =2 7 a XK 8.1 4.7 13
169y
170/ 7 h7a) > —u 0.0 0.0
195| 7" aF AR A
212|777 =—Fk 3,030 8.1 3,038
229|F A7 7 F—FEAF L 0.1 0.1
251| 7 ==baF+4> 497 7.3 504
260|7naXn=)r 291 291
286N 7oL 124 124
350]~L AR 71 0.6 72
357| 7 a7
364| 7 =B oFX A—k
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 698 270 969
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 120 120
AR (AF T L) =RT L —T /URiER T A
409 SR 5,970 286 6,256
410 R (AxXv =T L) = /=T —T )b 1.7 198 199
& 2t 3,986 353 22 6,793 874 12,027

#2-2-17 FpETHIHSNDRHITLRD k)

|« R GALZE Y E R DO HE H BAHERTHRE A (20224F 58 ; A7) 11 1Y)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 7.7 7.7
BEWMZIRD, )
53| = F P 55 55
64| =h 7T a I 0.7 0.7
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 69 69
95| 7 VT V) A 20 20
96| 7 = /) —) 0.0 0.0
108 A7y
113>~
118|3/ur7 2=,
140| 7 = 7 u R )
169/ v
170/ 7 ootV —v
195| 7 aF F R A
212|777 —h 233 233
229|F A7 7 X — AT L
51| 7 ==raFAo 171 171
2607 a=)r 322 322
286/ R 7oL 199 199
350]~ L AR 0.6 0.6
RV A=
364| 7 = Em¥% T A—h 1.9 1.9
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 842 342 1,184
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 151 151
ARV (AF T L) =RT VLT —T /LR T A
409 SR 7,706 362 8,068
40|R) (X 2FL) =)=V Txz=)L=—T )L 0.9 250 251
B s 539 343 0.0 8,748 1,105 10,734

(2)-105




322-2-18 FhETHEHSLD EIERIHRD &R - I S R O HE HH EHERH RS R (202242 ; 8@ 1 IR)

S E s/ EPEH & (kg/4F)
B YWE 4 R LA A | B E A BREH | R ok
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 2.2 2.2
BEWIZIED, )
53| = F LB 16 16
64| TR T =T A 0.5 0.5
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 19 19
95| 7T VF A
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u
195| 7" aF AR A
212|777 =—Fk 355 355
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 49 49
260|7nuXa—/L 159 159
286N 7oL 124 124
350]~L AR 1.0 1.0
357| 7 a7 0.7 0.7
364| 7 =B oFX A—k
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 707 150 856
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 66 66
AR (AF T L) =RT L —T /URiER T A
409 SR 3,285 159 3,443
410 R (AxXv =T L) = /=T —T )b 109 109
& 2t 444 159 0.0 4,116 484 5,202
#2-2-19 FECTH AN EIKITHRD HER - S b= E R OHEH EHEF A R (20224 B ; (LALIR)
xS Y A PEH & (kg/5F)
B WE 4 2 LA A B R EE A BREA] | EEH ot
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 4.5 4.5
BEMIZIRD, )
53| =F P 33 33
e
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 41 41
95| 7 VT V) A 4.7 4.7
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 25 25
118|3/ur7 2=,
140| 7 =7 a /XK
169/ v
1707~ 7o) —)v
195| 7 aF F R A 2.8 2.8
212|777 —h 46 46
229|F A7 7 X — AT L
%517 ==raF 4> 100 100
260| 7oA a=,1 26 26
286/ R 7oL 217 217
350[~L AR
357| 7 Fmr 103 103
364| 7 = Em¥% T A—h 21 21
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 61 407 469
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 180 180
ARV (AF T L) =RT VLT —T /LR T A
409 SR 587 432 1,019
40|R) (X 2FL) =)=V Txz=)L=—T )L 1.1 0.5 298 299
B s 351 31 0.0 891 1,317 2,591

(2)-106




322-2-20 FRETHEHSLD EIERIHRD &R - I S L= R O HE HH EHERH RS B (202245 ; RHFIR)

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 16 16
BEWIZIED, )
53| = F LB 140 140
64| TR 7 =TT A 0.1 0.1
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 169 169
95| 7T VF A 68 68
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L 0.1 0.1
140| 7 =7 /XK 0.0 0.2 0.2
169y
170/ 7 h7a) > —u 1.6 1.6
195| 7 aF AR A 8.0 8.0
212|777 =—Fk 204 204
229|F A7 7 F—FEAF L 0.1 0.1
251| 7 ==baF+4> 368 368
260|7naXn=)r 769 769
286N 7oL 120 120
350]~L AR 0.0 0.0
357| 7 a7 98 98
364| 7 =L B EF T A—] 14 14
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 4.6 266 880 1,151
HEWNCIRS, )
408/ R (AFv 2 TF L) =A4IF /N T =)L =—TF)L 389 389
AR (AF T L) =RT L —T /URiER T A
409 TR 4,368 932 5,300
410 R (AxXv =T L) = /=T —T )b 8.8 643 652
& 2t 1,022 847 0.4 4,754 2,845 9,468

#2-2-21 FpETHIHSNDEHITMRD kD

|« R GAL Y E R DO PE H BAHERTHRE R (20224 K ; ek B 1)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 13 13
BEWMZIRD, )
53| = F P 93 93
64| =h 7T a I 0.5 0.5
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.9 0.2
REERBEDOIRE ) )
80/F L 117 117
95| 7 VT V) A
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 15 15
118|3/ur7 2=,
140| 7 = 7 u R )
169/ v
170|777y —)u 0.0 0.0
195| 7 aF F R A
212|777 —h 512 512
229|F A7 7 X — AT L
51| 7 ==raFAo 292 292
2607 a=)r 287 287
286/ R 7oL 333 333
350[~L AR
3577 Fur 16 16
364| 7 = Em¥% T A—h 1.6 1.6
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 968 464 1,432
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 205 205
ARV (AF T L) =RT VLT —T /LR T A
409 SR 6,554 492 7,046
40|R) (X 2FL) =)=V Txz=)L=—T )L 3.7 0.3 339 343
B s 1,045 290 0.3 7,870 1,500 10,705

(2)-107




32-2-22 FRETHEHSLD EIERIHRD &R - I S R O HE L EHERH RS R (20224 ; [ IR)

S E s/ EPEH & (kg/4F)
EELAE S YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 27 27
BEWIZIED, )
53| =F P 206 206
64| “h 7T av I A 0.3 0.3
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 255 255
95| 7T VF A 543 543
96| 7 = /Ja)}—) 0.0 0.0
108 A7 my
113>~ 25 25
118|37m7 %=1
140| 7 =7 /XK
169y
170/ 7 h7a) > —u 3.9 3.9
195| 7 aF AR A 28 28
212|777 =—Fk 434 434
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 610 610
260| 7ok o=/)L 1,564 1,564
286/~ 7oL 375 375
350]~L AR 0.9 0.9
357| 7 a7 266 266
364| 7 =L B EF T A—] 56 56
RN (FFTFLy) =T /1% Lo—T /L (T )LF
407 | WVEDIRFBHEN123515FTOHD K OEDIR 1,143 1,798 2,942
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 796 796
R (AFv T L) =RT v —T )URiliE T A
409 SR 8,611 1,906 10,517
NOR)(FFXFLTFL)=/)=)VT7z=)LT—T )L 5.7 0.5 1,315 1,321
& 7t 1,884 2,117 0.0 10,155 5,815 19,971

#2-2-23 FpETHIHSNDEHITLRD k)

|« R GAL Y E R DO PE H BAHER RS A (202245 K8 3 2511

e A PEH & (kg/5F)
B WE 4 B Al | REEAl BRI PREA | EAEA] | SRl | AE
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 164 164
BEMIZIRD, )
53| =F P 1,199 1,199
e 4.2 4.2
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.7 0.7
REERBEDOIRE ) )
80/F L 1,492 1,492
95| 7 VT V) A 112 112
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 16 16
118377 %=L 2.3 4.8 7.0
140| 7 = 7 u R ) 5.8 11 16
1697 2.7 2.7
170/ 7 ootV —v 11 11
195| 7 aF F R A 59 59
212|777 —h 7,230 12 7,242
229| T H 77 Rx—hMAF L 0.1 0.1
%517 ==raF 4> 3,646 11 3,657
2607 o=,u 2,070 0.0 2,070
286/ R 7oL 471 471
350]~ L AR 77 3.3 80
357| 7 Fmr 178 178
364| 7 = Em¥% T A—h 42 42
R (FFoFL o) =T LF)Lo—T )L (T L%
407 | WVIEDRFBELNL 23515 F TOHD K OZFEDIR 2.1 5,158 4,913 10,074
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 2,175 2,175
ARV (AF T L) =RT VLT —T /LR T A
409 SR 38,958 5,207 44,165
40|R) (X 2FL) =)=V Txz=)L=—T )L 14 0.3 3,592 3,606
B s 14,098 2,209 431 44,606 15,887 76,843

(2)-108




32-2-24 FRETHEHSD EIERIHRD & - I S L= R O HE HH EHERHRE R (202245 ; =& IR)

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 21 21
BEWIZIED, )
53| = F LB 153 153
64| TR 7 =TT A 0.4 0.4
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 191 191
95| 7T VF A 155 155
96| 7 = /Ja)}—) 0.0 0.0
108 A7 my
113y~
118377 %=L 0.0 0.1 0.1
140| 7 =7 /XK 0.1 0.1 0.2
169y
170/ 7 h7a) > —u 0.0 0.0
195| 7 aF AR A 5.4 5.4
212|777 =—Fk 590 0.2 590
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 471 0.2 472
260|7nuXa—/L 562 562
286N 7oL 456 456
350]~L AR 0.5 0.1 0.6
357| 7 a7 448 448
364| 7 =L B EF T A—] 92 92
R (FFoFL ) =T /LF)Lo—T)L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 1,200 717 1,918
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 318 318
AR (AF T L) =RT L —T /URiER T A
409 TR 8,386 760 9,147
410 R (AxXv =T L) = /=T —T )b 0.6 524 525
& 2t 1,973 718 0.7] 10,043 2,319 15,053

#2-2-25 FERETHIHSND BRI/ D il - e AL A BRI O Pk BEHER T R (20224 ; R )

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 9.0 9.0
BEWMZIRD, )
53| = F P 70 70
64| =h 7T a I 0.9 0.9
70 T A7F U Blal BEMRIE K M=~ A7F > Blb
REERBEDOIRE
80/F L 87 87
95| 7 VT V) A 91 91
96|27 x /a) —)L
108 A7y
113>~
118377 %=L 0.0 0.0 0.0
140| 7 = 7 u R ) 0.1 0.1 0.2
169/ v
170|777y —)u 3.9 3.9
195| 7 aF F R A 16 16
212|777 —h 354 0.4 354
229| T H 77 Rx—hMAF L 0.2 0.2
51| 7 ==raFAo 201 0.3 201
2607 a=)r 198 198
286/ ke L 124 124
350]~ L AR 0.2 0.0 0.2
3577 Fur 78 78
364| 7 = Em¥% T A—h 18 18
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 184 403 586
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 178 178
ARV (AF T L) =RT VLT —T /LR T A
409 SR 2,484 427 2,911
40|R) (X 2FL) =)=V Txz=)L=—T )L 4.4 295 299
B s 833 298 1.0 2,791 1,303 5,226

(2)-109




3F22-2-26 FRE TR SLA EIERITHRD &R - I S L= B R O HE HH EHERH RS 3 (20224 ; mUEU)

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 9.3 9.3
BEWIZIED, )
53| = F LB 69 69
64| TR 7 =TT A
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 86 86
95| 7T VF A 99 99
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L 0.0 0.1 0.1
140| 7 =7 /XK 0.2 0.2 0.3
169y
170/ 7 h7a) > —u 0.0 0.0
195| 7 aF AR A 8.8 8.8
212|777 =—Fk 526 0.3 527
229|F A7 7 F—FEAF L 0.0 0.0
251| 7 ==baF+4> 206 0.3 206
260|7naXn=)r 194 0.0 194
286N 7oL 35 35
350]~L AR 6.0 0.0 6.0
357| 7 a7 78 78
364| 7 =L B EF T A—] 16 16
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 117 313 430
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 139 139
AR (AF T L) =RT L —T /URiER T A
409 SR 1,872 332 2,204
410 R (AF v =F L) = /=) Tz )L—TFT )L 1.2 229 230
& 2t 1,006 294 0.9 2,024 1,012 4,337

#2227 FpETHIHSNDRHITLRD k)

|« R GAL Y E R D YE H BAHER RS A (20224 K 3 KERA)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 103 103
BEWMZIRD, )
53| = F P 739 739
64| N7 =T a7 A 1.4 1.4
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.1 0.1
REERBEDOIRE ) )
80/F L 923 923
95| 7 VT V) A 30 30
96| 7 = /) —) 0.6 0.6
108 A7y
113>~
118377 %=L 0.8 1.8 2.6
140| 7 = 7 u R ) 4.3 11 15
169w 16 16
170|777y —)u 0.1 0.1
195| 7 aF F R A 18 18
212|777 —h 5,913 9.2 5,922
229| T H 77 Rx—hMAF L 0.1 0.1
51| 7 ==raFAo 2,289 8.2 2,297
2607 u= 1 385 1.6 386
286/ ke L 201 201
350]~ L AR 26 1.4 28
RV A=
364| 7 = Em¥% T A—h 8.5 8.5
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 497 811 1,308
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 359 359
ARV (AF T L) =RT VLT —T /LR T A
409 SR 11,907 859 12,767
40|R) (X 2FL) =)=V Txz=)L=—T )L 0.6 593 593
B s 10,026 416 341 12,622 2,622 25,720

(2)-110




322-2-28 FhE TR HSLA EIERIHRD &R - I S R O HE HH EHERH RS R (20224 FF ; FLJd IR

/|

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 45 45
BEWIZIED, )
53| = F LB 341 341
64| TR 7 =TT A 9.3 9.3
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 422 422
95| 7T VF A 232 232
96| 7 = /Ja)}—) 0.3 0.3
108 A7 my
113y~
118377 %=L 0.4 1.9 2.2
1407 =2 7 a XK 1.3 2.8 4.1
169y 2.8 2.8
170/ 7 h7a) > —u 0.2 0.2
195| 7 aF AR A 62 62
212|777 =—Fk 1,977 3.6 1,981
229|F A7 7 F—FEAF L 0.1 0.1
251| 7 ==baF+4> 991 3.2 994
260| 7ok o=/)L 1,005 0.6 1,006
286N 7oL 582 582
350]~L AR 71 1.9 73
357| 7 a7
364| 7 =L B EF T A—] 3.2 3.2
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 499 1,313 1,812
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 581 581
AR (AF T L) =RT L —T /URiER T A
409 TR 5,372 1,391 6,764
410 R (AxXv =T L) = /=T —T )b 2.4 960 962
& 2t 3,923 1,240 14 6,456 4,246 15,878

#2-2-29 FpETHIHSNDEHITLRD k)

|« R GAL Y E R O YE H BAHERHRE AR (20224F 8 . 2R B IR

xS Y A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 10 10
BEMIZIRD, )
53| =F P 71 71
64| =h 7T a I 0.0 0.0
70 T A7F U Blal BEMRIE K M=~ A7F > Blb
REERBEDOIRE
80/F L 89 89
95| 7 VT V) A 4.1 4.1
96|27 x /a) —)L
108 A7y
113>~
118|3/ur7 2=,
140| 7 =7 a /XK
169/ v
1707~ 7o) —)v
195| 7 aF F R A
212|777 —h 114 114
229|F A7 7 X — AT L
%517 ==raF 4> 223 223
260| 7oA a=,1 152 152
286/ R 7oL 42 42
350[~L AR
357| 7 Fmr 42 42
364| 7 = Em¥% T A—h 8.7 8.7
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 885 68 953
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 30 30
ARV (AF T L) =RT VLT —T /LR T A
409 SR 3,744 72 3,816
40|R) (X 2FL) =)=V Txz=)L=—T )L 0.4 49 50
B s 558 157 4,672 219 5,606

2)-111




3#2-2-30 FRETH S E3EITHR D SR - Xt S b= B R O HE HH mHERHRE B (20224 B ; Fnafk L &)

S E s/ EPEH & (kg/4F)
B YWE 4 Bl | Al | Al BREA | REAl | sulEAl | &8
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 4.8 4.8
BEWIZIED, )
53| = F LB 40 40
64| TR T =T A
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZREBEOIREY : ’
80|F L 48 48
95| 7 )LT V) 9.5 9.5
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u
195| 7 aF AR A 7.1 7.1
212|777 =—Fk 146 146
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 108 108
260| 7ok o=/)L 302 302
286N 7oL 125 125
350]~L AR 0.6 0.6
357| 7 a7 55 55
364| 7 = B mF% L A—h 7.9 7.9
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 0.6 675 395 1,070
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 175 175
AR (AF T L) =RT L —T /URiER T A
409 SR 4,376 418 4,794
410 R (AxXv =T L) = /=T —T )b 1.5 289 290
& 2t 418 313 0.0 5,176 1,277 7,184
#2-2-31 FJETHEHINDEIEIAR L@ - I 82 E B Ok S 5 HRG 3 (20224F % ; 55 HUR)
xS Y A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 7.2 7.2
BEMIZIRD, )
53| =F P 51 51
64| =h 7T a I 0.0 0.0
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 64 64
95| 7 VT V) A 83 83
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 18 18
118|3/ur7 2=,
140| 7 =7 a /XK
169/ v
1707~ 7o) —)v
195| 7 aF F R A
212|777 —h 54 54
229|F A7 7 X — AT L
%517 ==raF 4> 159 159
2607 a=)r 94 94
286/ R 7oL 319 319
350[~L AR
357| 7 Fmr 8.2 8.2
364| 7 = Em¥% T A—h 0.9 0.9
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 364 216 580
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 96 96
ARV (AF T L) =RT VLT —T /LR T A
409 SR 1,876 229 2,105
40|R) (X 2FL) =)=V Txz=)L=—T )L 0.3 0.4 158 158
B s 344 176 0.0 2,577 698 3,796

(2)-112




#2-2-32 FRETHIHSND B RICAHRD el - 5 A A BRI O Pk B HER Tl A (20224 5 AR )

S E s/ ER PR & (kg/5F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 2.4 2.4
BEWIZIED, )
53| =F P 17 17
64| TR 7 =TT A 0.0 0.0
70 T A F U Blal BEMBE N V=~ A7FBlb
ZEEMRBEDOIREY
80|F L 21 21
95| 7T VF A 7.3 7.3
e =A%
108 A7 my
113>~ 38 38
118377 %=L
140| 7 =7 /XK 0.0 0.0
169y
170/ 7 h7a) > —u
195| 7" aF AR A
212|777 =—Fk 45 45
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 53 53
260|7nuXa—/L 43 43
286N 7oL 66 66
350]~L AR
357| 7 a7
364| 7 =B oFX A—k
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 402 87 489
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 38 38
AR (AF T L) =RT L —T /URiER T A
409 TR 1,789 92 1,882
410 R (AF v =F L) = /=) Tz )L—TFT )L 0.3 0.8 64 65
& 7t 139 51 0.0 2,296 281 2,767

#2-2-33 FRETHIHSNDEHITLRD k)

|« R GAL Y E R DO HE H BAER RS A (20224F K8 ; i 111 1)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 14 14
BEWMZIRD, )
53| = F P 102 102
64| =h 7T a I 0.7 0.7
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 127 127
95| 7 VT V) A 25 25
96| 7 = /) —) 0.5 0.5
108 A7y
113>~ 21 21
118377 %=L 0.0 0.1 0.2
140| 7 = 7 u R ) 0.1 0.3 0.4
169/ v
170|777y —)u 0.0 0.0
195| 7 aF F R A
212|777 —h 912 0.4 913
229|F A7 7 X — AT L
51| 7 ==raFAo 318 0.3 319
2607 a=)r 340 340
286/ R 7oL 390 390
350]~ L AR 1.9 0.1 2.0
3577 Fur 16 16
364| 7 = Em¥% T A—h 4.1 4.1
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 1,122 543 1,666
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 241 241
ARV (AF T L) =RT VLT —T /LR T A
409 SR 4,886 576 5,462
40|R) (X 2FL) =)=V Txz=)L=—T )L 0.1 0.4 397 398
B s 1,497 365 1.8 6,420 1,757 10,040

(2)-113




#2-2-34 FRETHIHSND ERIARD el - c AL BRI O Pk B HER TR AL (20224 5 I o5 )

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 108 108
BEWIZIED, )
53| = F LB 782 782
64| TR 7 =TT A 1.6 1.6
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 975 975
95| 7T VF A 93 93
96| 7 = /Ja)}—) 0.1 0.1
108 A7 my
113>~ 38 38
118377 %=L 0.5 0.9 1.4
140| 7 =7 /XK 1.0 2.9 3.8
169y 16 16
170/ 7 h7a) > —u 3.9 3.9
195| 7 aF AR A 32 32
212|777 =—Fk 3,293 4.0 3,297
229|F A7 7 F—FEAF L 0.0 0.0
251 |7 x=haF 4 2,397 3.6 2,401
260| 7ok o=/)L 2,092 2,092
286N 7oL 204 204
350]~L AR 23 0.7 24
357| 7 a7 187 187
364| 7 = B mF% L A—h 39 39
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 0.6 1,255 1,708 2,964
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 756 756
AR (AF T L) =RT L —T /URiER T A
409 TR 12,726 1,810 14,536
410 R (AF v =F L) = /=) Tz )L—TFT )L 5.7 0.8 1,249 1,255
& 2t 7,839 2,195 12] 14,241 5,522 29,809

#2-2-35 FRETHIHSNDEHITMRD k)

- R GAL Y E R O PE H BAHER RS AR (20224F 58 111 11 B

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 5.0 5.0
BEWMZIRD, )
53| =F P 35 35
64| N7 =T a7 A
70 T A7F U Blal BEMRIE K M=~ A7F > Blb
REERBEDOIRE
80/F L 44 44
95| 7 VT V) A 24 24
96|27 x /a) —)L
108 A7y
113>~
118|3/ur7 2=,
140| 7 = 7 u R )
169/ v
170/ 7 ootV —v
195| 7 aF F R A
212|777 —h 69 69
229|F A7 7 X — AT L
%517 ==raF 4> 111 111
2607 a=)r 42 42
286/ R 7oL 48 48
350[~L AR
3577 Fur 1.2 1.2
364| 7 = Em¥% T A—h 2.8 2.8
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 65 119 184
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 53 53
ARV (AF T L) =RT VLT —T /LR T A
409 SR 492 126 618
40|R) (X 2FL) =)=V Txz=)L=—T )L 4.3 87 91
B s 269 70 605 384 1,328

(2)-114




3F22-2-36 FRE TR S D EIERICHRD &R - I S R O HE HH EHERH RS R (20224 2 ; T 55 IR

/|

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 1.6 1.6
BEWIZIED, )
53| =F P 12 12
64| TR T =T A 0.0 0.0
70 T A F U Blal BEMBE N V=~ A7FBlb
ZREBEOIREY
80|F L 15 15
95| 7 )LT V) 13 13
e =A%
108 A7 my
113y~
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u
195| 7" aF AR A
212|777 =—Fk 64 64
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 37 37
260|7nuXa—/L 26 26
286N 7oL 171 171
350]~L AR
357| 7 a7 17 17
364| 7 =L B EF T A—] 1.3 1.3
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 55 109 164
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 48 48
AR (AF T L) =RT L —T /URiER T A
409 SR 207 115 322
410 R (AxXv =T L) = /=T —T )b 1.0 80 81
& 2t 147 41 432 352 972
#2-2-37 FJE THEHIND IR H @R - I B b2 E B Ok S GG 3 (20224F %, 75 )1 1R)
xS Y A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 22 22
BEMIZIRD, )
53| =F P 160 160
64| =h 7T a I 0.8 0.8
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 199 199
95| 7 VT V) A 6.2 6.2
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 14 14
118|3/ur7 2=,
140| 7 =7 a /XK
169/ v
1707~ 7o) —)v
195| 7 aF F R A 16 16
212|777 —h 117 117
229|F A7 7 X — AT L
%517 ==raF 4> 481 481
2607 a=)r 808 808
286/ FJ7uk’)L
350]~ L AR 0.9 0.9
357| 7 Fmr 2.7 2.7
364| 7 = Em¥% T A—h 1.2 1.2
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 531 189 720
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 84 84
ARV (AF T L) =RT VLT —T /LR T A
409 SR 3,741 201 3,942
40|R) (X 2FL) =)=V Txz=)L=—T )L 0.3 0.3 138 139
B s 999 815 0.0 4,287 612 6,713

(2)-115




3F22-2-38 FhE TR S D EIERICHRD &R - I S R O HE Y EHERH RS R (20224 ; 22 IR

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 3.8 3.8
BEWIZIED, )
53| = F LB 28 28
64| TR 7 =TT A 0.2 0.2
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 35 35
95| 7T VF A 19 19
96| 7 x /a) Y —)L 0.0 0.0
108 A7 my
113y~
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u 0.0 0.0
195| 7 aF AR A 2.5 2.5
212|777 =—Fk 59 59
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 84 84
260|7nuXa—/L 179 179
286N 7oL 266 266
350]~L AR 1.6 1.6
357| 7 a7 10 10
364| 7 =L B EF T A—] 1.6 1.6
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 70 506 577
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 224 224
AR (AF T L) =RT L —T /URiER T A
409 SR 498 537 1,035
410 R (AxXv =T L) = /=T —T )b 0.9 370 371
& 2t 226 199 0.0 835 1,637 2,897

#2-2-39 FpETHIHSNDEHITLRD k)

|« R GAL Y E R DO HE H BAHERTHRE R (20224F K ; & A1)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 6.9 6.9
BEWMZIRD, )
53| = F P 53 53
64| =h 7T a I 0.1 0.1
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 66 66
95| 7 VT V) A 7.0 7.0
96| 7 = /) —) 0.0 0.0
108 A7y
113>~
118|3/ur7 2=,
140| 7 = 7 u R )
169/ v
170/ 7 ootV —v
195| 7 aF F R A 11 11
212|777 —h 86 86
229|F A7 7 X — AT L
51| 7 ==raFAo 152 152
2607 a=)r 736 736
286/ R 7oL 39 39
350[~L AR
3577 Fur 50 50
364| 7 = Em¥% T A—h 8.4 8.4
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 149 343 492
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 152 152
ARV (AF T L) =RT VLT —T /LR T A
409 SR 2,210 364 2,573
40|R) (X 2FL) =)=V Txz=)L=—T )L 4.2 251 255
B s 434 747 0.0 2,398 1,110 4,689

(2)-116




#K2-2-40 FRETHIHSND B RIAHRD il - 5 A A BRI O Pk B HE Rl A (20224 ; it )

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 116 116
BEWIZIED, )
53| = F LB 858 858
64| TR 7 =TT A 3.4 3.4
70 T A F U Blal BEMBE N V=~ A7FBlb 0.3 0.3
ZEEMRBEDOIREY ) '
80|F L 1,066 1,066
95| 7T VF A 231 231
96| 7 = /Ja)}—) 0.3 0.3
108 A7 my
113y~
118377 %=L 0.6 2.5 3.1
140| 7 =7 /XK 2.0 3.6 5.6
169y 11 11
170/ 7 h7a) > —u 8.0 8.0
195| 7 aF AR A 85 85
212|777 =—Fk 3,826 3.5 3,829
229|F A7 7 F—FEAF L 0.2 0.2
251 |7 x=haF 4 2,576 3.2 2,579
260|7naXn=)r 1,651 1.1 1,652
286N 7oL 533 533
350]~L AR 33 2.5 36
357| 7 a7 163 163
364| 7 = B mF% L A—h 33 33
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 1,409 3,012 4,421
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 1,333 1,333
AR (AF T L) =RT L —T /URiER T A
409 TR 13,739 3,192 16,931
A0IRY (FFLoFL o)==\ Tx=)LT=—F)L 14 2,202 2,216
& 2t 8,762 1,904 17 15,692 9,738 36,114

#2-2-41 FRETHIHSND BRI/ D il - e S S BRI O Pk BEHER TR (20224 ; V2 )

/|

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 2.7 2.7
BEWMZIRD, )
53| = F P 25 25
64| =h 7T a I 0.3 0.3
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 30 30
95| 7 VT V) A 21 21
96| 7 = /) —) 0.0 0.0
108 A7y
113>~
118|3/ur7 2=,
140| 7 = 7 u R )
169/ v
170/ 7 ootV —v
195| 7 aF F R A 15 15
212|777 —h 76 76
229|F A7 7 X — AT L
51| 7 ==raFAo 60 60
2607 a=)r 71 71
286/ R 7oL 113 113
350]~ L AR 1.9 1.9
3577 Fur 86 86
364| 7 = Em¥% T A—h 16 16
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 892 182 1,074
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 81 81
ARV (AF T L) =RT VLT —T /LR T A
409 SR 8,710 193 8,904
40|R) (X 2FL) =)=V Txz=)L=—T )L 5.2 133 139
B s 313 98 0.0 9,715 590 10,716

2)-117




322-2-42 FRETHEHSLD EIERIHRD &R - I S R O HE HH EHERH RS B (202241 ; Rl IR)

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 1.9 1.9
BEWIZIED, )
53| =F P 17 17
64| TR 7 =TT A
70 T A F U Blal BEMBE N V=~ A7FBlb
ZEEMRBEDOIREY
80|F L 21 21
95| 7 )LT V) 398 398
e =A%
108 A7 my
113y~
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u 1.6 1.6
195| 7 aF AR A 9.0 9.0
212|777 =—Fk 67 67
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 42 42
260|7naXn=)r 251 251
286N 7oL 79 79
350]~L AR 0.2 0.2
357| 7 a7 241 241
364| 7 =L B EF T A—] 47 47
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 820 287 1,107
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 127 127
AR (AF T L) =RT L —T /URiER T A
409 SR 4,244 304 4,548
410 R (AF v =F L) = /=) Tz )L—TFT )L 2.4 210 212
& 2t 446 653 5,143 927 7,170

F2-2-43 FpETHIHSNDEHITLRD k)

- R GAL Y E R DO HE H BAER RS R (202247 K8 ; REAC )

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 20 20
BEWMZIRD, )
53| = F P 143 143
64| N7 =T a7 A
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 178 178
95| 7 VT V) A 334 334
96| 7 = /) —) 0.0 0.0
108 A7y
113>~ 17 17
118277 %=L 0.0 0.0
140| 7 = 7 u R ) 0.0 0.0
169/ v
170/ 7 ootV —v
195| 7 aF F R A 7.1 7.1
212|777 —h 245 245
229|F A7 7 X — AT L
51| 7 ==raFAo 437 437
2607 u= 1 1,059 1,059
286/ ke L 414 414
350[~L AR
3577 Fur 540 540
364| 7 = Em¥% T A—h 104 104
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 504 636 1,140
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 282 282
ARV (AF T L) =RT VLT —T /LR T A
409 SR 7,267 674 7,941
40|R) (X 2FL) =)=V Txz=)L=—T )L 4.3 0.3 465 470
B s 1,674 1,397 0.0 8,203 2,057 13,331

(2)-118




F2-2-44 FRETHEHIND IR D H @A - Xt S = E B OHE S S HEEHRG 3 (20224 ; K0 IR)
S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 4.5 4.5
BEWIZIED, )
53| = F LB 34 34
64| TR 7 =TT A
70 T A F U Blal BEMBE N V=~ A7FBlb
ZEEMRBEDOIREY
80|F L 42 42
95| 7T VF A 11 11
e =A%
108 A7 my
113y~
118377 %=L
140| 7 =7 /XK
169y
170/ 7 h7a) > —u
195| 7 aF AR A 5.3 5.3
212|777 =—Fk 110 110
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 100 100
260|7naXn=)r 143 143
286N 7oL 343 343
350]~L AR
357| 7 a7 23 23
364| 7 =L B EF T A—] 5.2 5.2
R (¥ mFLo) =T FLo—T )L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 115 85 199
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 38 38
AR (AF T L) =RT L —T /URiER T A
409|5.7) S 703 90 793
410 R (AxXv =T L) = /=T —T )b 0.6 62 63
& 2t 324 154 1,161 274 1,914
3#2-2-45 FETHEHIND IR H @R - I 820 E B Ok S GG 3 (20224F % ; = il IR:)
xS Y A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 26 26
BEMIZIRD, )
53| =F P 187 187
e
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 233 233
95| 7 VT V) A 202 202
96| 7 = /) —) 0.0 0.0
108 A7y
113>~
118|3/ur7 2=,
140| 7 =7 a /XK
169/ v
1707~ 7o) —)v
195| 7 aF F R A 4.3 4.3
212|777 —h 44 44
229|F A7 7 X — AT L
%517 ==raF 4> 578 578
2607 a=)r 368 868
286/ R 7oL 41 41
350]~ L AR 0.2 0.2
357| 7 Fmr 39 39
364| 7 = Em¥% T A—h 9.1 9.1
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 445 347 791
EMITIREA, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 153 153
ARV (AF T L) =RT VLT —T /LR T A
409 SR 4,768 367 5,136
40|R) (X 2FL) =)=V Txz=)L=—T )L 3.1 253 256
B s 1,120 1,073 0.0 5,254 1,121 8,567
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3#2-2-46 FRETH S A E3ERITHR D SR - Xt S L= B R O HE HH mHERHRE B (20224 % ; BT 5 IR

S E s/ EPEH & (kg/4F)
B YWE 4 el | BmAl B EREA PREH | EAEAl | SakEdl | A
BT VxR B U RV R N VDY (T v
30| L DR BHDNT10NH14ETOLD K FD 42 42
BEWIZIED, )
53| = F LB 297 297
64| TR 7 =TT A 0.2 0.2
70 T A F U Blal BEMBE N V=~ A7FBlb 0.0 0.0
ZEEMRBEDOIREY ) '
80|F L 371 371
95| 7T VF A 249 249
96| 7 = /Ja)}—) 0.0 0.0
108 A7 my
113>~ 5.9 5.9
118377 %=L 0.0 0.0 0.0
140| 7 =7 /XK 0.0 0.0 0.0
169y
170/ 7 h7a) > —u 0.9 0.9
195| 7 aF AR A 4.9 4.9
212|777 =—Fk 67 67
229|F A7 7 F—FEAF L
251| 7 ==baF+4> 922 922
260|7nuXa—/L 572 572
286N 7oL 727 727
350]~L AR 2.1 0.0 2.2
357| 7 a7 228 228
364| 7 =L B EF T A—] 47 47
R (FFoFL ) =T /LF)Lo—T)L (T /LF%
407 | WVEDIRFBHEN123515FTOHD K OEDIR 548 634 1,182
HEWNCIRS, )
408 R (AFXFT =T L) =F/F N T =)L =—F )L 281 281
AR (AF T L) =RT L —T /URiER T A
409 TR 5,054 672 5,726
410 R (AxXv =T L) = /=T —T )b 5.3 0.1 464 469
& 2t 1,981 827 0.1 6,334 2,051 11,194

F2-2-47 FpETHIHSNDRHITLRD k)

|« R GALZE Y E R DO HE H BAHER RS A (202245 5 ; i 1)

e A PEH & (kg/5F)
B WE 4 BeobAl | REAl B EREA BREH] | EEAl | SR | A
BT VXN AR B ZVIR R N N DR (7L
30| LD R BHDT10NSH14FETOLD K FED 168 168
BEWMZIRD, )
53| = F P 1,220 1,220
64| =h 7T a I 0.1 0.1
70 T A7F U Blal BEMRIE K M=~ A7F > Blb 0.0 0.0
REERBEDOIRE ) )
80/F L 1,521 1,521
95| 7 VT V) A 56 56
96| 7 = /) —) 0.0 0.0
108 A7y
113>~
118277 %=L 0.0 0.0
140| 7 = 7 u R ) 0.1 0.0 0.1
169/ v
170|777y —)u 0.9 0.9
195| 7 aF F R A 64 64
212|777 —h 25 0.2 26
229|F A7 7 X — AT L
51| 7 ==raFAo 3,735 0.2 3,735
2607 u= 1 377 0.6 377
286/ R 7oL 212 212
350]~ L AR 0.8 0.8
3577 Fur 3.3 3.3
364| 7 = Em¥% T A—h 3.8 3.8
R (FFoFL o) =T LF)Lo—T )L (T L%
407 |V EEDIRBEDI123H15FTOHD K INE DR 663 1,795 2,458
EWCIRS, )
408/ R (AF L =FLV) =4V F N T 2= /L=—T )b 795 795
ARV (AF T L) =RT VLT —T /LR T A
409 SR 3,474 1,902 5,377
40|R) (X 2FL) =)=V Txz=)L=—T )L 2.7 1,312 1,315
B s 6,741 436 1.0 4,349 5,805 17,331
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